AFn 5 4ERE
1 BbAEh REEDORE (£A)

FBETRERE LS OMEREERRDR

T4 HLATL 4 A 5 H 6 A 7 H 8 A 9 A 104 114 124 14 2 A 3 H &t
Ak = t 5,809.62 | 6,447.41 | 6,150.81 | 6,007.23 | 6,054.02 | 5,708.44 | 6,190.21 | 5,874.60 | 6,503.27 | 5,846.64 60, 592. 25
IR T t 669. 21 798. 72 667. 75 624. 97 697. 73 593. 36 672. 04 752. 64 778.99 578. 60 6, 834. 01
BFED t 4.79 6. 36 6. 92 7.32 7.79 7.06 8. 80 9.14 11.17 8. 84 78.19
HPENT t 32.31 274. 22 136. 82 90. 21 66. 16 117. 83 101. 48 135. 20 97.18 0.86 1,052. 27
Gk t 6,515.93 | 7,526.71 | 6,962.30 | 6,729.73 | 6,825.70 | 6,426.69 | 6,972.53 | 6,771.58 | 7,390.61 | 6,434.94 68, 556. 72
2 BEHLSY Ul —fRBEFEM O E (% A)
HAAL 4 A 5H4 6 A 7H 8 A 9A4 10H 114 12H 1A 2 A 3A G
1547 t 1,709.11 | 1,385.42 | 1,921.52 0.00 0.00 | 2,039.55 | 2,333.89 | 1,920.31 | 2,489.73 | 2,236.92 16, 036. 45
2 5 t 2,211. 62 868.80 | 1,722.08 | 2,163.30 | 1,931.02 | 1,979.40 | 2,458.59 | 2,184.01 | 2,365.18 | 1,340.08 19, 224. 08
35 t 1,296.07 | 1,958.03 648. 59 0.00 0. 00 0.00 0.00 0.00 745.56 | 1,807.84 6, 456. 09
4 5A t 1,651.89 | 1,683.94 | 1,739.65 | 2,073.69 | 1,545.08 | 1,958.62 | 1,761.46 | 1,808.49 | 1,782.86 | 1,243.26 17, 248. 94
aat t 6,868.69 | 5,896.19 | 6,031.84 | 4,236.99 | 3,476.10 | 5,977.57 | 6,553.94 | 5,912.81 | 7,383.33 | 6,628.10 58, 965. 56
3 RENGETIBICEROBERSIC L 2 MEmlE/s R (FA)
HH HAL A L BN 4 A 5H 6 A 7H 8 A 9 A 104 114 12H 1H 2H 3H ]
15 852 853 851 NG NGl 858 852 852 852 851 853
%fﬂiﬁ?‘?f“?ﬁﬂ}f U 7= 1 A 3R . S00LLE 2547 860 860 858 854 853 854 856 858 853 852 856
< 35YA 873 871 868 RYF NG RIF RAF RAF 875 875 872
4547 858 856 854 855 857 859 857 855 858 860 857
15 187 188 188 NG NGl 188 188 188 188 188 188
%U/\/H{%]\D'ﬂﬁﬂﬁ L7 % B . BR20051F 2507 188 188 188 188 188 188 188 188 188 188 188
- 3 188 188 188 RIF NGl RYF PRIF RIF 187 188 188
4507 188 188 188 189 189 189 188 188 189 188 188
IE=2 ] 39 35 37 NG NG 25 30 34 39 45 36
%f@%ﬁ;gg L= HEH = - 1005 27:7”(? 31 34 34 _ 28 _ 28 _ 27 _ 34 _ 32 32 27 31
TR 34 48 53 43 NG RIF NG NG NG 62 63 54
4547 38 40 37 36 30 37 45 48 55 43 41

GE) 1 BB A O 2 FiH

2 7T OFRIFT, TOFYEHITBO T, FERAREM L, BEANFEREICE S FE 2R T

4 X2V T ADBBREIRD

gl W CADKREEIT-7-H
1547
X e (< 2SI e
PET 2B (N T 7 4 v F) - oy~ 71 TRERR 55
3 S
4 BIF

[55]

1/2R=2




5 FEREW O ALEL K ONESRIZ B D IR T AISHASR D 5 H1HE S TET 2T AT O Z A A% 0 U FHRESE, KO
REIGG I EREATRANEE 165 D 12551 5 2 \HRE T 2 Pl X sh ok e

Il HAfr FL 1\ A 2[5 B 3 H A[E H 5[E B 6/a] F 7[8] H 8=l H CIERE]
157 4ATH 5H17TH 6H9H 9A5H 9H26H| 10A10H| 11H14H - -
B 2 5IF 47 10H 5H2H 6A5H THS5H 8HA8H 9A6H 10A3H 11A1H -
BERL7-AHR
3 5IF 45181 5A17H| 12H28H 1H25H - - - - -
4 B 47 10H 57 16H 6A8H THTH 8H9H 9A6H 10A6H| 115154 12/ 28H
1547 47 28H 5A31H 6A29H 9H29H 9A29H| 10A31H| 11430H - -
2 5IF 47 28H 5431H 6H29H 7TH31H 8A31H 9A29H( 10A31H| 11H30A -
FEERBEONIZAHE —
3 5P 47 28H 5A31H 1H23H 2/ 16H - - - - -
4 = 47 28H 5431H 6H29H 7TH31H 8A31H 9A29A( 10HA31H| 11H30A 1H23H
1547 0. 03 0.29 0.42 0.98 40 44 1.3 - -
\ 2 5IF 44 10 5.1 1.9 10 2.5 2.8 0.86 -
KSR BE — 1 g/m3N 5084 F
3 5P 1.3 1.6 2.8 0.76 - - - - -
4 5IF 0.91 4.7 2.9 4.6 6.6 0.35 1.9 4. 4 1.8
154 0. 009 0.017 0.016 0. 047 0.003 0.002 0.002 - -
o 2 5 ) 0.004 0.006| 0. 0011 0.001| 0. 0011 0. 002 0. 002 0. 002 -
IEVC AR E g /m3N 0. 08LLF
3 5IF 0. 001 AT 0.003 0.003| 0.001Ai - - - - -
4 =R 0.017 0.012 0.018 0.011 0.019 0.021 0.002 0.010 0.014
1 547 0.12 0.03 0.10 0.07 0.06 0.26 0.05 - -
) 2 5IF ) 0.14 0.10 0.10 0. 04 0.02 0. 10 0. 20 0.16 -
Hi s b O KA — 17. 580 F
3 5UF 0.01 0.05 0.02 0.04 - - - - -
4 =R 0.04 0.03 0.07 0.04 0.04 0.02 0.05 0.09 0.03
154 99 120 110 100 85 100 94 - -
) ‘ 2 5IF ) 130 140 120 150 110 140 110 120 -
2 R — vol ppm 25021 F
35 120 140 110 130 - - - - -
4 5IF 140 170 170 160 120 110 120 100 130
15F 57 33 69 72 130 83 70 - -
‘ 2 FIF ) 60 110 42 46 200 64 120 60 -
ALK FE R mg/m3N | 70080
35 57 56 53 21 - - - - -
4 5)F 30 7 120 56 40 14 56 78 19
GRS 2[A1 H
BRIMA  |FHEREA H Bl BREH |FHEAEA Hufi
1547 5H31H TH5H 0.012
. § 2 FIF 5H30 THb5 0.024
A H L AR | ng-TEQ/m3N | 1F J150H JI5H
3 5P 6H1H TH5H 0.010
4 A 6H2H TH5H 0. 035
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